

Take a

Be Kind Break

be considerate

3rd-5th
Grade



Math

The **Be Kind Pledge** lists 10 skill sets of kindness.
This month we are focusing on **Be Considerate**.





Take a

Be Kind Break™

be considerate

3rd-5th
Grade



Math

What does CONSIDERATE mean?

The dictionary says considerate means being thoughtful of the rights and feelings of others.

When you are considerate, you are not just thinking about yourself. You put others before yourself and you recognize that you are part of a community. You want what is best for everyone or everything around you.

Being considerate means you pay attention to others and think before you speak.



Take a

Be Kind Break™

be considerate

3rd-5th
Grade



Math

Considerate Donations

Charitable organizations often accept monetary donations to keep spreading kindness. Luna and her friend Mela organize a bake sale at school to help raise money for their favorite local organization.

They're hoping to raise \$1,200 from their bake sale. If they make 200 cookies, 160 brownies, and 120 cupcakes, how much do they need to charge per treat to make their goal?

$$\$1,200 / (200 + 160 + 120) = ?$$





Take a

Be Kind Break™

be considerate

3rd-5th
Grade



Math

Donation Station

Help Mela and Luna figure out these multiplication and division problems!

1. $\$2.50 \times 200 =$
2. $150 \times \$\underline{\hspace{2cm}} = \750
3. $\$1.05 \times 350 =$
4. $\underline{\hspace{2cm}} \times \$3.75 = \$618.75$
5. $\$ \underline{\hspace{2cm}} / \$1.25 = 140$
6. $\$800 / \$ \underline{\hspace{2cm}} = 320$
7. $\$1,200 / 800 =$
8. $1,084.6 / \$748 =$



Take a

Be Kind Break™

be considerate

3rd-5th
Grade



Math

Answer Guide

Considerate Donations (Page 3)

$$\$1,200 / (480) = \$2.50 \text{ per treat}$$

Donation Station (Page 4)

1. $\$2.50 \times 200 = \500
2. $\$750 / 150 = \5.00
3. $\$1.05 \times 350 = \367.5
4. $\$618.75 / \$3.75 = 165$
5. $140 \times \$1.25 = \175
6. $\$800 = 320 \times \$\underline{\hspace{2cm}}$, $\$800 / 320 = \2.50
7. $\$1,200 / 800 = \1.50
8. $1,084.6 / \$748 = \1.45



Take a

Be Kind Break™

be considerate

3rd-5th
Grade



Math

Academic Standards & References

CCSS.MATH.CONTENT.3.OA.A.3
CCSS.MATH.CONTENT.3.OA.A.4
Represent and solve problems involving multiplication and division.

CCSS.MATH.CONTENT.4.MD.A.2
Solve problems involving measurement and conversion of measurements.

